R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.12

lastpro w
g8 §3 N
@885 S
5200 W. CENTURY BLVD. gf;’g 9g 74
O® € PN ]
LOS ANGELES, CA 90045 55838 ro
Zon ’E 2 g
é 8 a o O g E
3 2% 25208
[} [ ) [} ] o [ ]
Smooth / Wood Grain / White Wood Grain 74.00" MAX. OVERALL FRAME WIDTH £
® oo o
Rustic / Mahogany AN
1 1 ¢ s
Series N Fiberglass Door : S
INSWING / OUTSWING =
"NON-IMPACT" %g
Bh=
[0) = (=]
A $8 25
GENERAL NOTES 5 : 24l gg
73 m
= : S| 4
1. This product has been evaluated and is in compliance with the 2010 Florida Building Code 5 e 5% %‘ W 0
(FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ). & % . % o g &
w L O g “&
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to 2 % X © X § i ‘9_: &
. . o 2 i o
base material shall be beyond wall dressing or stucco. _, &® [0) o a
< =
3. When used in areas requiring wind borne debris protection this product is required to be § é %
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC. o 5
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown g g
for 2x buck masonry construction. § 3
5.  Site conditions that deviate from the details of this drawing require further engineering 5
analysis by a licensed engineer or registered architect. g
[ZI
m
TABLE OF CONTENTS
SHEET# | DESCRIPTION =
1 Typical elevation, design pressures, & general notes -
2 Door panel details o
3 Horizontal cross sections <
4 Vertical cross sections i PN raehiers Merdttehde oaTE: 02/16/12
E Buck and fron'.te anchoring - 2X buck mosonry.conshuchon INSWING 74.00" x 82.00" | 21.00" x 63.00" +47.0 -47.0 SCALE:  N.T.S.
6 Frame anchoring - 1X buck masonry construction Gl DWG. BY: JK
4 Endura astragal details - = . - cHK. B:  LFS
8 Bill of materials, glazing detail & components OURIING 74.00° x 50.50° | 21.00" x 63.00 +47.0 -47.0 DRAWING NO.:
FL—-15213.12
SHEET _1_OF 8

© 2012 R.W. BuUiLDING CONSULTANTS INC.



CON| SANVYLIMENOD SNIGTNE My 2108 @

60¥EP 'ON "T'd “IPHUUDS 'd UOPUAT] SNOISIAZY i ~
~rere ot STVLIC TINV ¥00d a8 amn NO AR
“ON USIDZLIOINY IO S1D01IIeD e
P_Oﬂon.w%cm nu:o_nmwo»o(_“ »M pJDOg DPLOLY "mdms.wmm,q HO L¥vd M.m W ~ . m &
LELE'EEOCLE "ON BuOUd 8000 SSY 19384 z.,,u, . g0 2_
GBGEE ~1d OOWIDA O£Z Xog °O'd S@ ONI 0dd1SYid o|. |&|& m |
"ONI ‘SINVLINSNOS ONIaUNG . i W . i m
:Ag pesodesd sjuewnoog -10NA0Yd E m m m

©.

EXTERIOR
(41)

\
//
7
//
/4

/"2 "\ VERTICAL CROSS SECTION

48
INTERIOR
®
45

i __&m_.ﬁ *.l\

e 1.59" —=

e BOTTOM RAIL
\ Cellular PYVC

. 2
45" —] €
| Sle
B @
o s =%
o » 98
5 m Sz A
[ TH]
/] 2 a6 ]
I/ Q ® ! g
[a%2 (»] 5
(4 O (74 [}
©) o L & &
oz i = ) 'y
= = g ” ol
z tu 58
/ Q » %
I /4 m .
= ——— ..N&.O I 0
% .ﬂ e 3
uy
® g
N o g
L = , X 3L
;o * r 51 Lv' m@w

I

21.00" MAX.
D.L.O. WIDTH

DOOR
PANEL WIDTH

36.00" MAX.

@ DOOR PANEL

_l b L
IHOBH O T0 XYW .00e9

IHOMEH TaINVd 3000 XYW 5T 6L

CL'C DMPBI-CL E1CG1- 1H\0TOC\SDUIMEIT JEMY "G\LBST 4d\009T - T0GT 10IO\SIoPIod Pololg\epaloid - vhiy



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 3.12

1-1/4" MIN.

EMB. (TYP.)

1-1/4" MIN.
EMB. (TYP.)

0.15"
< CSINK
(TYP.)

71"\ HORIZONTAL CROSS SECTION

NE

Outswing shown inswing

also approved

NOTE:

1. As noted in the test report astragal was attached
fo the inactive leaf with {10) #8 x 3" psh sms and
(4) #10 x 2-1/2 pfh sms for all 6'-8" {outswing).
Astragal was attached fo the inactive leaf with
(9) #8 x 3" psh sms and (4] #10 x 2-1/2" pfh sms
for all §-8" {inswing).

INTERIOR

EXTERIOR

@20 () (&)

¢ .-
i . V
i N 'v L
! .

INTERIOR

(30
3
\3/ Ly
A SR ANACE

[
7

e

vV

EXTERIOR

/~4 "\ HORIZONTAL CROSS SECTION
W Shown w/1X sub-buck

(&5

~

EXTERIOR

7“3\ HORIZONTAL CROSS SECTION

/"2 HORIZONTAL CROSS SECTION

\3/ Outswing shown - inswing

w Outswing shown - inswing
also approved

also approved

1-1/4" MIN.

EMB. (TYP.)

FL. 33585

No.: 813.659.9187

BUILDING CONSULTANTS, INC.
Z’?’%Z 7.4z
Lyndon F. Schmidt, P.E. No. 43409

P.O. Box 230 Valrico

Phone
Florida Board of Professional Engineers

Certificate Of Authorization Ne. 9813

Ry

Documents Prepared By:

PLASTPRO INC.
LASS DOOR

FIBERG

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

f
S
o
prd
2

pATE: 02/16/1

scale: NLT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.12

SHEET _J_OF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



TONE SBANYLINSMOD IMIGTUNE "M ZL08 @

60¥E¥ 'ON "3'd IPIULOS ‘4 UOPUA SNOISIATY . N
ez T R SNOLLO3S SSoMO wouMaa |48 Vd TONJSN| | 1| = |eo
€186 "ON uonpZUOUINY JO ©JOOYNRISD A _.lr_ )
sieeuiBUT |DUCISSS0Id JO PJOOE DPLIOLY ATENISSY HO Ldvd m m 5 m <]

LB16°6S9°CLE ON euoud 400U SSYI9¥3dld /2/ ] gw 4_
S68EC 4 OSUIDA 0£Z Xo8 ‘0'd \S&% "ONI 0YdLSYTd S| |&lEle
"ONI *SINVLINSNOD ONIGTING . i m iy W & _w
Ag pedodadd syuewINoog -1oNdoyd & M 5
("dAL) "aws
NIW W/ 1L

e 66

INTERIOR

4
EXTERIOR —
/"2°\ VERTICAL CROSS SECTION

INTERIOR
[N

W Shown w/1X sub-buck
EXTERIOR
PN v I
/ 4\ VERTICAL CROSS SECTION
\\U Inswing configuration

/’
4
=

32 L

("dAL) g3
NIW.F/1-1

(‘dAL) 'gaw3
NIW 7/ 1-1

1o (A
T =—INISD
v K - ,, :mw.o
v A o o
T o z @) z

1 e & o] o (@]
Soae ETL m E_I.L =

. = o Z 2
v = Wil o = W)~
A e Pk
. | als g\
AR Qs Qs

v i & OM Cem
AR N me MC
v. o v.., mmuw mm
SR L &
b ¥ >|08 - >0

PA x R

b3 ST
: : @ i
=) M m p g
(‘dAL) awa _| _ -
NIW /11

T ‘BMp8T-ZT"€TZS T-H\0T0Z\SBuIMRIQ DEMY "a\Z8ST 44\009T - 1051 fosd\siapiod pafosd\s1e(old - YAy



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 5.12

i 4“ 4:!
EESvRRTEwAl I 7
ik i
B !
f — | 3
TYP. HEAD I
MASONRY
OPENING & JAMBS 1
|
- I ~
92X BUCK ASTRAGAL
| sHowNFOR / |
REFERENCE ||
- ONLY I |
e ||
P 1
B I
| _ I ~
BUCK ANCHORING
CONCRETE ANCHOR NQOTES:

=1
e [

_

|

19" MAX
ON CENTER

1. Substitution of equal concrefe anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corers may be adjusted fo maintain the min. edge
distance to moriar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

¢ /4
fg — - c I 3" 6"
o~ ) ‘ ‘. ° l : 4 : a0l —
T e'v,“: — ‘// l-‘—é —‘—1 ___{ 28
. I lw ] B ®<
T S |1\ seE DETAL f
\ l l nzn . 27
. I ]
2 A Tiaes - /i
OPENING /4
! 17 W
LATCH & DEADBOLT DETAIL
+— E3l- FRAME ASTRAGAL ! Ig
SHOWNFOR _/ : ) T
REFERENCE o i— )
5 2X BUCK ONLY I LB b \}‘
® ( %
= E e+ ®
s SEE DETAIL ~3 @ s
s RoH Sh
® ‘ Q« | rd 5 I]
W
A\
HINGE JAMB FRAME ANCHORING ASTRAGAL STRIKE JAMB
Masonry 2X buck construction
% HINGE DETAIL
~ ® ® e
DETAIL2

ITw 1/4" 1-1/4" 2-1/2° 3"
ELCO 1[4" 1 -1/4" " a
ITw 3/14" 1-1/4° 2-5/8" 2-1/4

DETAIL 1

Inswing configuration

©

N (BN

DETAIL 1
Outswing configuration

2 p da
L9 8m (\\2
gm E£n w9
= [N [+ D
.Efglﬁ.(j\)o
%oq’dg z
0O C ui
HES 26\
= S B g .
2om BN T E
(S BT £
S oxfs3 NG
RN
g 3,585
ERide 8
. [+] °
g O &
2 gv& iy
e Tt
@ [* 3
E% EO
=1
8
[=]
83
o5
=5
o &
sS| <5
Za %%
oWl .. L]
3! b
oSm %E
Hols ==
& i éo
g 1 a
il B
o L:.moBE
8 O] ¥x
a 0L
o] Bl 22
© %mm
("R 0.

&
vy
=
=)
2]
ol
v

L

Z

el

o

=

paTE:  9/4/08
scale:  NT.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING HNO.:

FL—15213.12
SHEET 5 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.12

- RO § B e
CoLag. R
. ‘ . 4. 0 e - "
AT e 4a é
L@ . (I a
B R f <. L e

. 3"

6“

5 | e [T
o ==:===: I
T E ] : : §§§E DETAIL .
7"‘ | TYP.HEAD & I
i MASONRY JAMBS |
= OPENING ’ .
B |
ASTRAGAL
3 FRAME v | SHOWN FOR
|| REFERENCE ONLY > B
- ¥
] g0
) 1X BUCK \ | =0
i I
— |
. TYP. @ SILL
1 FR S SEE DETAIL
2t NIl
HINGE JAME FRAME ANCHORING
Masonry 1X buck construction
CONCRETE ANCHOR NOTES:

1. Substitution of equal concretfe anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the cormers may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to moriar joints, additional concrete anchors
may be required 1o ensure the "MAX., ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

1/4°

1-1/4"

2-1/2°

3!!

ASTRAGAL STRIKE JAMB T

/ﬁ?
s
[ ol o
L\

HINGE DETAIL

27
/|
(4
LATCH & DEADBOLT DETAIL

RE
[ d

DETAIL2

DETAIL 1

Inswing configuration

B B
©
=y |
-
\g L 2 L
DETAIL 1
Outswing configuration

No. 8813

[=dn YAVl W

813.659.9187

Florida Board of Professional Engineers
thorization

Certificate Of Zﬁw

P.0. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

Lyndon F. Schmidt, P.E. No. 43409

X
&
S=
of OR
. >
g8l =3
=3 oE
ow ., =0
T2 5
) o
e P Oy
Wi | =fe
Q.m&; <2
.o - wo
o
Q (e
S =
('R (s
&
I
=
Q
w
ol
A
K
<
o
O
z
DATE 9/4/08
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFs
DRAWING NO.:
FL—-15213.12

SHEET 6 OF 8

© 2012 R.W. BUILDING DONSULTANTS INC.



LATCH (BLIND HOLE)
5.50" —f== 0
o B .J 2
DEAD BOLT (THRU HOLE g8 2%
M Eg -
( )—\ 33.125" ~i 25800
& @ e e bo O, ® % g ’§ g g f N :
# ® ° e o Je e ® *e HEd g )
= = 23 " B 2\
Zom 58 3
275" —= | . - 250" 5885880 E
375" - 2800 == = - 3.63 3258
1 5 E h:
10.75" —= 10.50" : %25 éi g
-~ 187 = 18.50° p = 3é £
c 3
~ 26.75" - 26.50" = ER €38
8
=
& =
9‘ <) a
& =
ol I
s8l =
D - ! I - - =] 3
=] e= o T m—= =[N ! s cul..
— £33 &
6'8 ALUMINUM ASTRAGAL ASSEMBLY 2egle <
By Endura Product e B
o < 5 S
A < 2 &
1 o E
3 ) s =
= [=]
S S 1.63" &
: ¥
o Q.
(2
=
TOP BOLT RETAINER o
“/ MATL: 9-3/4" Aluminum 2
P VIEW A-A Q
i 19.63" /L i j Aluminum Asiragal Assembly
T | -
SLIDE BOLT ROD 3 = =
) MATL: Steel ™ 3 5 =
]' il -
e J | ™ S
. BT Qg oAt 9,/4,/08
. § scAe: N.T.S.
DWG. BY: JK
\ glgrrgnigl\g é‘;TR;AGAL 51 )-TOP BOLT RETAINER cuk. B:  LFS
59 /By Endura Produc MATL: 4-3/4" HDPE TR
FL—15213.12
SHEET _7 OF _8

© 2012 R.W. BUILDING CONSULTANTS IND.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 8.12

33595

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL
A | IXBUCK SG >=0.55 WOOD 20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
B | 2X BUCK $G >=0.55 WOOD 21 | POLYFIBER JAMB COMP. / VINYL
C | 1/4" MAX. SHIM SPACE - 27 | LATCH STRIKE PLATE STEEL
D | 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 28 | DEADBOLT STRIKE PLATE STEEL
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |30 | WEATHER-STOP 3647 HOLM INDUSTRIES VINYL
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 31 | OUTSWING BUMP THRESHOLD ALUM.
F | 1/4" X 2-3/4" PFH ITW CONCRETE SCREW STEEL 32 | VINYL DOOR BOTTOM SWEEP #3428 BY HOLM IND. PVC
G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL 33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
H | 1/4"x 3-1/4" PFH TW CONCRETE SCREW STEEL 34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
I | 1/4" X 2-1/4" PFH ITW CONCRETE SCREW STEEL 40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
J | 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL 41 | DOOR SKIN (MIN. 0.075" THICK) FIBERGLASS
K | #9X 2-1/2" PFH WOOD SCREW STEEL 42 | TOP RAIL CELLULAR PVC
L | #10X2-1/2" PFH WOOD SCREW STEEL 43 | LATCH & HINGE STILE CELLULAR PVC
M | #9 X 2-1/4" PFH WOOD SCREW STEEL 44 | LOCK REINFORCEMENT WOOD
N | 3/16" X 3-1/2" PFH ITW CONCRETE SCREW STEEL 45 | BOTTOM RAIL CELLULAR PVC
O 13/16" X 1-1/2" PFH ITW CONCRETE SCREW STEEL 46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
T | #10 X 2-1/2" PFH SMS STEEL 47 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
2 | #8 X 3"PSH SMS STEEL 48 1 SNAP IN LITE FRAME ABS
3 | FLUSH BOLT STRIKE PLATE STEEL 49 | GLAZING COMPOUND DOW 995 SILICONE
7 | Q-LON 650 WEATHER STRIP SCHLEGEL FOAM 56 | GLAZING SPACER ALUM.
8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM 61 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE
9 | 4" X 4" BUTT HINGE STEEL 62 | 9-8/4" LENGTH TOP BOLT RETAINER ALUMINUM
10 | #9 X 1" PFH WOOD SCREW STEEL 65 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
11 | #9 X 3/4" PFH WOOD SCREW STEEL 67 | SLIDE BOLT ROD STEEL
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
| 456" S i_ 456" ~ |
N =l = o
? ! 2.44° ! 2.13" ? ! 2.44" ! 213"~ *
@ OUTSWING BUMP THRESHOLD
() g asms O 05 Guss s
BITE GLASS THK.
49
1/8" TEMPERED
| 5.63" | - e ////~“k3LAss
= ___i U . — AIR SPACE
? N B T
2 . Y _ OPTIONAL
— 3 o AN \DECORATNE INSERT
R — ) f \\LWMARSPACE
1/8" TEMPERED

@ ADJUSTABLE INSWING THRESHOLD

@ ADJUSTABLE INSWING THRESHOLD

(5
48 . GLAZING DETAIL

GLASS

"{
g o
g IS
z” s3(\N¥
LIV
a5z
§§%§= uj
Ssegslpa
poo8E My
. w 0% ‘2
5885 8N
ggézzi’ @
'63,2‘.25 w
§ 5028 c
f Roa o8 g
[/ ¢} v
o © €
8 gvt& ke
z =P
© [y
E&: o
=]
5
[s]
o
Se
35
% G
OS5 =
= S e
oul.. <=2
Fa 5
Lol Ea
IEa =
. w LI.%‘
. vl Bl B
5l ok
2 ol 2
@
o
2 |z
>_
m
%)
=
o
n
|
&
,'5
<
S
O
Z
paTE:  9/4/08
scale: N.T.S.
pWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.12

sieer 8 oF 8

© 2012 R.W. BUILDING CONSBULTANTS NG,



